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Subtraction within 20 on a Number Line
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Subtraction within 20 on a Number Line - Sheet 2

Practise what you have learnt so far on a number line to 20 and progress to
see if you can draw your own number line!
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Subtraction within 20 on a Number Line - Sheet 3

Practise what you have learnt so far on a number line to 20 and progress to
see if you can draw your own number line!
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Monsters Colour by Number Addition and Subtraction up to 20

Solve the calculations in the picture to work out what colours they should be!

12= Pink
15= Green
18= Grey

20= Red




Addition and Subtraction Facts to 20 - Speed Test

See how long it takes you to complete all of these or give
yourself a set amount of time (say 5 mins) and see how

many you can do.

1~6+6=J_n8—6z_ 9-3: 13 - 4 = 4-1 =
1445 - 2 +17 = 7e 8= 4+ 9 = 4 -2
9-7= 3+9= 15 -1 = 20 - 10 = 10-5 =
[ 2+11-= 3+1= 14 -7 = 17 +2 = 2+3=
2+ 15 = 3:=2= 9 +3-= 6+ 4= 15-6 =
7= 3= 11 +5 = 8-5= 7+8= 4+ 6 =
10+10= | 18-4 = 3+ 4= 20 - 19 = 4+ 9 =
8-2-= 10 + 0 = 8 +8-= 14 + 2 = 7 -2 =
11+ 1 = 13-5 = 17 -'2 = 9-4= 19 + 1 =
14 -1 = 12-9 = 3+7- 5+5= 15-9 =

Correct answers: [

Jrime




Deriving Facts to 100

For each of the following, complete the number fact to 10 and then
derive the number fact to 100. The first one has been done for you.

7+2=9 7-4=
70 + 20 = 90 70 - 40 =
4+ 6= BeigeT=
40 + 60 = 30 + 60 =
5E BI's 8- =
50-30 = 80 - 30 =
10-7 = Rl =
100 - 70 = 90 + 10 =
5+ 4= Sheh Jae=
50 + 40 = 30-20 =
9= S 10 -5 =
90 - 80 = 100 - 50 =

Use the appropriate number fact to ten mentally to derive
the number fact to 100.

50 + 50 = 40 + 30 =
60 - 40 = 80 -30 =
10 + 80 = 20 + 60 =
90 - 60 = 50 - 40 =
20 + 80 = 80 -70 =

40 + 40 = 70 - 20 =
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Adding 2-Digit Numbers and Ones Crossing 10

5+ 6= 2. 8+3=
15+6= 18 + 3 =
45+ 6 = 38+ 3=
65 + 6 = 78+ 3 =
6+ 8= 4. 7+5=
16 + 8 = 17+5 =
46 + 8 = 67 +5 =
96 + 8 = 87 +5=
54+Q9= 6. 6+7 =
15+9= 16 +7 =
5549 = 46 +7 =
85 +9= 6+ 7=
94+ 3= 8. 4+9=
19+3 = 14+9=
59 + 3 = 54+ 9 =
9+ 3 = 74 +9 =
74+8= 10. 5+ 8 =
17 +8 = 15+8=
57 +8 = 65+ 38 =
97 + 8 = 85+38=




Adding 2-Digit Numbers and Ones Crossing 10

7+ 4= 8+ 6 =
17 + 4 = 18 + 6 =
47 + 4 = 28 + 6 =
67 + 4 = 68 + 6 =
6+8-= 6=
16 + 8 = 17 + 6 =
56 + 8 = 47 + 6 =
86 + 8 = 67 + 6 =
12 + 2 = %+ =
22 + 2 = 19+7-=
62 + 2 = 390 + 7 =
92 + 2 = 99 + 7 =
il e 31 h +8 =
OB S = 14 + 8 =
59 + 3 = 44 + 8 =
99 + 3 = 64 + 8 =
o2 8= o)+ 8 =
19 + 8 = 15+ 8 =
49 + 8 = 65+ 8 =
79 + 8 = 85+ 8 =
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Subtracting Numbers and Ones from 2-Digit Numbers, Crossing 10

7 -4 = 8-1=
17 - 4 = 18-1-=
27 - 4 = 28 -1-=
37 - 4 = 38-1-=
8-3 = 9 -2 =
18 -3 = 19 -2 =
48 -3 = 49 -2 =
58 -3 = 69 -2 =
12-5= 18 -5 =
22 -5 = U8 = 5 E
32 -5 = 38 - 5 =
72 -5 = 98 _ 5 =
20-5 = 13 -7 =
40 -5 = 23 -7 =
70 -5 = 43 -7 =
80 -5 = 13-17-=
16 -3 = 12 -3 =
26 -3 = 22 -3 =
56 - 3 = 72 -3 =
76 -3 = 82 -3 =




Subtracting Numbers and Ones from 2-Digit Numbers, Crossing 10

15-6 = 21 -4 =
25— 6h= 31 -4 =
45 - 6 = 41 - 4 =
95,96 = 61 -4 =
11 -7 = fk2=5L=
21 -7 = 22-5+=
Sl == 62 -5 =
91 -7 = 82 -5 =

el = =
12 -6 =

28 — A=
22 -6 =

38-9 =
42 - 6 =

78 -9 =
62 -6 =
20 == 13-8-=
30-7-= 23 -8 =
40-7 = 33 -8 =
80-7 = 53 -8 =
16 - 9 = 12 -7 =
26" =19 = B ==
46 - 9 = Sp. SiN=
86 -9 = 72 -7 =




